a-o’lda

t,2
T

tbar{t}} [p b/G eVZ]

cdot m—

d* {p

Ratio to ATLAS

o
&

|
o
4

1078

[EEY

0.5

13000 GeV pp tt
- T 1 l [ 7 ! | |2
| — C
top g
n P_" (ATLAS ttbar) 13
T
=
B ATLAS 3
—— Pythia 6.428 350 N
— .a-- Pythia 6.428 351 —=
~ v Pythia 6.428 352 1%
A Pythia 6.428 353 1o
— --0O-- Pythia 6.428 354 _.02:
% Pythia 6.428 33% -
@ Pythia 6.428 356 |
Pythia 6.428 357 .
Bythia 6:428 358, . 3
— = Pythia 6498359 i =
B 13
- HEs
B -5,
N
B o
-
(0]
Q
[%)]
= =8
— - O
— — O
| . L . | . . 1 E
:l I I I I l I I l:
- —2
1
L —0.5
l L L . l
0 1000




	Contents
	Page 1


